

Indian Institute of Technology, Patna

IWD, IITP - Kanpa Road, Bihta Patna, 801 106 (Bihar)

Date23.05.2022

NOTICE INVITING QUOTATION

NIQ No.- IITP/IWD/RZ/NIQ/04/2022

INTRODUCTION

- 1. Sealed quotations are invited from eligible and reputed vendors as per eligibility criteria given in Annexure-I
- 2. The interested eligible bidders should download the NIQ from the official website of IIT Patna (i.e. iitp.ac.in in Tender/ NIQ Section) from 23.05.2022 to 29.05.2022.
- 3. Name of the WORK: Const. Of 2 no. Of Rotational gate at Sports Ground of IIT Patna.

Estimated Cost is Rs. 58,772/-

The work will be done under supervision of Assistant Engineer (Civil), IIT Patna.

4. GENERAL GUIDELINES:

- i) The interested bidders may visit the site to have an exact idea regarding the Works to be done, before submission of bid.
- ii) The work to be completed within 45(Thirty) days of receipt of work order as per delivery schedule.
- iii) Utmost importance should be given on the quality of work. It should be strictly as per direction of E/I.

iv)Any item of substandard quality will be rejected out-right and the Executive Engineer Civil RZ, IIT Patna has the right to cancel the order.

5.PROCEDURE AND TIME FOR SUBMISSION OF DOCUMENTS:

SCHEDULE OF DATES:

(a) Date of download of NIQ documents- From 23.05.2022 to

Q

- (b)Last date and time of submission of sealed quotation document -30.05.2022 up to 3:00 p.m. in tender box at Admin building IIT Patna near Gard post.
 - (c) Date and time of opening of quotation 30.05.2022 at 03.30 PM.
 - (d)Place of opening of quotation: In the Office of EE Civil RZ.
 - (e) Validity of quotations: 60 Days.
- 6.a. The Quotation superscripted as "Const. Of 2 no. Of Rotational gate at Sports Ground of IIT Patna." addressed to the EE civil RZ, IIT Patna, Kanpa Road, Admin Building, Bihta, Patna-801106, must reach not later than 3:00 p.m. on 30.05.2022.
 - b. After expiry of the scheduled date & time, no quotation will be accepted under any circumstances.
 - c. Rate should be quoted in the 'PRICE BID FORMAT' (Annexure-II and III& as per prescribed in the Quotation Document).
 - d. Prices shall be inclusive of all taxes, duties, GST, levies, transportation etc. as applicable. If turnover is less than 40 lakhs an undertaking by the bidder to be given that no GST registration required.
- e. Along with the quotation the bidders has to submit the following forms as well as credentials (self-attested):-
- I)Experience Certificated as per Annexure-I
 - II) Photo Copy of PAN.
 - III) Price Bid Format (Annexure -II& III)
 - IV) GST no.

TERMS OF PAYMENT:

IITP will deduct a sum at the rate of 5% of the gross amount from each running bill of the contractor as security deposit. Security deposits hall be refunded aftersix monthofdefects liabilityperiod. CPWD specification and condition shall prevail for other terms and condition.

EE Civil (RZ)

IIT Patna

Anos. 2

EligibilityCriteria:

Contractors/vendorswhofulfillthefollowingrequirementsshallbeeligibletoapply. The joint ventures are not accepted.

a) Experienceofhavingcompleted/substantiallycompletedduringthelast5years following 'similar works' ending last day of the month previous to the one in whichapplications invited:

Three*similarcompletedworkscostingnotlessthantheamountequalto40%ofthee stimatedcost.

OR

Two*similarcompletedworkscostingnotlessthantheamountequalto60%ofthees timatedcost

OR

One*similarcompletedworkcostingnotlessthantheamountequalto80% oftheestimatedcost.

AND

One work of any nature (either part of (i) or a separate one) costing not less than

the amount equal to 40% of the Estimated cost put to tender with some Central/State Government Organization/Central Autonomous Body/Central Public Sector under takings.

The "Similarwork" shallmean 'Civil Work'

- ACompletioncertificatefromClientmustbesubmittedbythebidder.





Indian Institute of Technology, Patna

IWD, IITP - Kanpa Road, Bihta Patna, 801 106 (Bihar)

| To be filled up by the contractor: |
|------------------------------------|
|------------------------------------|

Name of the work: - "Const. Of 2 no. Of Rotational gate at Sports Ground of IIT Patna."

| I/We agree to carry out the above mentioned works | % below or% |
|---|------------------|
| above or. At per of the estimated cost is | (in figure. Rs.) |
| | (in words) |

A

Signature of Contactor.

Mob. No.-

Email-id-

BOQ

| Sr. No. | Code No. | Description of Items | Unit | Qty. | Rate (Rs.) | Amount (Rs.) | Remarks |
|------------|-------------|--|---------|---------------------------------------|-------------------|-----------------|---------|
| 1 | 2 | Earthwork | | | · · · | | |
| | 1. 1. 1. | Clearing jungle including uprooting of | | | | N 1 1 1 | |
| | | rank vegetation, grass, brush wood, trees | 1 | | | | |
| | | and saplings of girth upto 30 cm | | | | | |
| 2 | 2.31 | measured at a height of 1 m above | Sqm | 4.00 | 14.50 | 58.00 | |
| | | ground level and removal of rubbish upto | | | | | |
| | | a distance of 50 m outside the periphery | | | | | |
| | | of the area cleared. | | | | | |
| | | Earth work in surface excavation not | - 43 | | | | |
| | 144.34 | exceeding 30 cm in depth but exceeding | | | | | |
| | | 1.5m in width as well as 10sqm on plan | | 1000 | | | |
| 3 | 2.1.1 | including disposal of excavated earth up | Sqm | 4.00 | 107.00 | 428.00 | |
| | | to 50m & lift up to 1.5m, disposed soil to | 1.7 | | | | |
| | | be leveled and neatly dressed: All kind of | | | | 3 34 5 | |
| | | soil. | | | | | |
| - 1 | | Earth work in excavation by | | | | \$1.145 | |
| | | mechanical/manual means in foundation | | | | | |
| 4 | 201 | trenches including getting out and | C | 0.75 | 200.05 | 245 44 | |
| 4 | 2.8.1 | disposal of excavated earth lead upto | Cum | 0.75 | 286.85 | 215.14 | |
| | | 50m and lift upto 1.50m as directed by | | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 | | | |
| | | EIC in all kinds of soil. | | | | | Rates |
| 6 | 5 | Reinforced Cement Concrete | | | | 0.00 | are |
| | | Providing and laying of RCC (1:2:4) upto | | | | | taken |
| 7 | 5.1.3 | plinth level. | Cum | 0.31 | 7945.65 | 2463.15 | from |
| | | Centering and shuttering including | 1. 1. | | | | DSR - |
| 8 | 5.9 | strutting, propping etc. and removal of | | | 11 - 11 - 11 - 11 | 0.00 | 2021 |
| 0 | 3.3 | form for : | | | | 0.00 | |
| 10 | 5.9.6 | Form work for posts. | Sqm | 1.50 | 804.25 | 1206.38 | |
| 11 | 5.9.5 | Form work for beams. | Sqm | 1.75 | 608.35 | 1064.61 | |
| 11 | 3.3.3 | Steel reinforcement of TMT bar for RCC | Jqm | 1.73 | 000.55 | 1004.01 | |
| 12 | 5.22.6 | work. | Kg | 52.74 | 89.65 | 4728.14 | |
| 13 | 6 | Masonary Work | | | | 0.00 | |
| 13 | | Brickwork in foundation and plinth in cm | | | | 0.00 | |
| 14 | 6.1.2 | 1:6 | Cum | 0.44 | 6658.25 | 2929.63 | |
| 15 | 10 | Steel Work | | | | 0.00 | |
| | | Steel work welded in builtup | 9.5 | 1 1 1 1 1 | | 0.00 | |
| | | sections/framed work, including cutting, | | | | | |
| | | hoisting, fixing in position and applying a | | | | | |
| * 1 | | priming coat of approved steel primer | | | | 1 | |
| 16 | 10.25.2 | using structural steel etc. as required - In | Kg | 284.27 | 142.30 | 40451.62 | |
| | | Gratings, frames, guard bar, ladder, | | | | | |
| | | railings, brackets, gates and similar | | | | | |
| İ | | works. | | | | | |
| 17 | 13 | Finishing | | | | 0.00 | |
| 21 | 13.53.1 | Syenthtic enamel Painting | Sqm | 25.92 | 150.20 | 3893.18 | |
| | | oyenerie enumer runtung | - Sq.11 | 20.02 | 130.20 | 5555,10 | |
| 23 | 15.00 | Dismantling and Demolishing | | | * 1 | 0.00 | |
| | 74, | | | | | | |
| 1 | | Dismantling and stacking within 50 | | **, * | | | |
| 24 | 15.34.1 | metres lead, fencing posts or strut | Each | 4.00 | 192.95 | 771.80 | |



| | | pipe. | | | | | |
|----|-------|---|-----|--------|-------|----------|--|
| 25 | 15.38 | Dismantling expanded metal or IRC fabrics with necessary battens and beading including stacking the serviceable material within 50 metres lead. | Sqm | 9.00 | 62.50 | 562.50 | |
| | | | | 13 2 4 | Total | 58772.15 | |

Estimated amount comes to rupees Fifty eight thousand seven hundred seventy two only.

EE/C

AE/C